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A(x) = cog(3x)+SiN(2x)—cos(X) : 2 3y
cos(3x) = cos(2x + X)

= cos(2x)cog(x) - sin(2x)sin(x)

= (2c0s?(x) - 1)cos(x) - 2sin(x)cos(x)sin(x)

= cos(x)(2cos? ( ) 1-2sin?(x)) gl 1
= cos(x)(2c0s? (x) - 1— 2(1— cos?(x)))
cos(3x) = cos(x) (4cos -3)

A(x) = cos(3x )+sm(2x) cos(x)
= cos(x)(4cos?(x) - 3)+ 2sin(x)cos(x) - cos(x)
= cos(x)(4cos?(x)— 3+ 2sin(x) 1)
= cos(x)(4{L-sin?(x))— 3+ 2sin(x)-1)
= cos(x)(2sin(x) 4sm (x))

A(x)= 2 sin(x )cos(Sx)(l ZSm( )

Ax)=0 < 2sin(x)cog(3x)(1-2sin(x))=0 < (sin(x)=0 ou cog3x) =0 ou sin(x):%)
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vxe]0;p[ sin(x)>0 : ol plad
AX)>0 < 2sin(x)cos3x)(1-2sin(x))>0 < cog(3x)(1-2sin(x))>0
Ax)>0 < cog3x)(2sin(x)-1)<0 <« cos(3x)(sin(x)—%jso H
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